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Sr Questions Answers Choice

1 In _______ at the age of twenty-six he became Deputy-Professor of Chemistry
A. 1748
B. 1848
C. 1948
D. 1648

2 In 1842 when he was ________ he went in for the entrance examination to the great Ecole
Normale

A. Twelve
B. Fifteen
C. Twenty
D. Thirty

3 He was already much interested in _______
A. Mathematics
B. Social sciences
C. Botany
D. Chemistry

4 He devoted his attention to fishing and making ________ of his companions
A. Sketches
B. Fool
C. Fun
D. Jokes

5 When he was two years old the family moved from Dole to ________
A. Paris
B. Arbois
C. Besancon
D. Zurich

6 He was _______ disappointed when the military authorities refused to enroll him
A. Little
B. Bit
C. Exceedingly
D. Nothing

7 His father had been one of Napoleon's _______
A. Conscripts
B. Amateur
C. Mercinery
D. Writer

8 Pasteur was born in quite ______ circumstances
A. Wealthy
B. Humble
C. Rich
D. Aristocratic

9 The name of the writer of "Louis Pasture" is _______
A. Philip K. Hitti
B. Herbert Hawkes
C. David Daiches
D. Margaret Avery

10 Sir Almorth Wright had been made a ______ in the Army Medical Service
A. Colonel
B. Brigadier
C. Major
D. Leiutenant

11 We have in this war gone back to all the septic infections of the ______ ages
A. Modern
B. Middle
C. Early
D. Ancient

12 Then in 19 _______ he joined the R.A.M.C. and faced the problems of the First World War
A. 10
B. 12
C. 14
D. 20

13 For _______ years Fleming worked in Wright's laboratory
A. Four
B. Five
C. Seven
D. Eight

14 Then at twenty, he received a share in a _______

A. Legacy

B. Pharmacy
C. Regency
D. Clemency

15 The Flemings, born on the land, were becoming a _______ family
A. Technician
B. Medical
C. Business
D. Educationist



16 At fourteen he went to ______
A. Paris
B. Washington
C. London
D. New York

17 He went to Kilmarnock ______
A. Academy
B. School
C. University
D. College

18 His father died when he was _______ years old
A. Five
B. Seven
C. Nine
D. Eleven

19 Fleming was born on a farm near Darvel on August 6 ______
A. 1681
B. 1781
C. 1881
D. 1981

20 The problem was still unsolved in _______ when Alexander Fleming passed his medical
examination

A. 1606
B. 1706
C. 1806
D. 1906


